How Do I Graph a Hyperbola?
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To find the foci, use ¢ = a® + b?. The foci are always graphed on the transverse axis, inside each curve. The
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arsverse axis is 2a units long; ‘rhe]co_ryggate axis is 2b units long.
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Another for good measure. . .
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Use the "completing the square” strategy to rewrite these general form equations in standard form. Identify the
center of the hyperbola, and tell whether the graph has a horizontal or vertical transverse axis. Determine the
value of a, b and c.
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@ &raph the hyperbola given by the general form

equation x° - 4y% - 2x - 8y - 7 = 0.
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Advanced Algebra
Hyperbola Practice

Name

1. Complete the table for the equations of the hyperbola.

' Equation Center Length of Transverse Axis Length of Conjugate Axis
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Graph the Wperbma ‘cf/—h the given equation. Plot the center, the vertices, the covertices, and the foci. Sketch the
asymptotes.
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